
PROVISIONAL ANSWER KEY

Paper: 107 - Elements of Commercial Accounts Book Keeping KSEBL
Date of Test 28-05-2024

Question1:-Accounting system used in KSEB Ltd.
KSEB ലിമി�ഡിൽ ഉപേയാഗി�� അെ�ൗ�ിംഗ് സി�ം
        A:-Cash basis
പണ�ിൻെറ അടി�ാനം
        B:-Accrual basis
സമാഹരണ അടി�ാനം
        C:-Hybrid system
ൈഹ�ിഡ് സംവിധാനം
        D:-None of the above
�കളിൽ പറ�വെയാ�മ�
        Correct Answer:- Option-B
Question2:-Basic activity of accounting is
അെ�ൗ�ിംഗിൻെറ അടി�ാന �വർ�നം
        A:-Identifying a transaction
ഒ� ഇടപാട് തിരി�റിയൽ
        B:-Recording a transaction
ഒ� ഇടപാട് േരഖെ����
        C:-Summarising a transaction
ഒ� ഇടപാട് സം�ഹി�ക
        D:-Both (2) and (3)
(2) ഉം (3) ഉം
        Correct Answer:- Option-A
Question3:-Basic reference for determining a firm's eligibility for a loan is
ഒ� േലാണി�� ഒ� �ാപന�ിൻെറ േയാഗ�ത നിർ�യി��തി�� അടി�ാന റഫറൻസ്
        A:-Its ledger
അതിൻെറ െലഡ്ജർ
        B:-Its cash book
അതിൻെറ ക�ാഷ് ��്
        C:-Its financial report
അതിൻെറ സാ��ിക റിേ�ാർ�്
        D:-None of the above
�കളിൽ പറ�വെയാ�മ�
        Correct Answer:- Option-C
Question4:-Why is cost accounting done?
എ�ിനാണ് േകാ�് അെ�ൗ�ിംഗ് നട��ത്?
        A:-To fix the price of products
ഉൽ����െട വില നി�യി�ാൻ
        B:-To analyse the expenditure
െചലവ് വിശകലനം െച�ാൻ
        C:-Both (1) and (2)
(1) ഉം (2) ഉം
        D:-None of the above
�കളിൽ പറ�വെയാ�മ�
        Correct Answer:- Option-C
Question5:-The managing partner of ABC Associates starts a new business by introducing Rs.5 crore by him. This amount is termed as
ABC അേസാസിേയ�്സിൻെറ മാേനജിംഗ് പാർട്ണർ ഒ� �തിയ ബിസിനസ് ആരംഭി��. 5 േകാടി �പയാണ് അേ�ഹം നൽകിയത്. ഈ �ക ഇ�കാരമാണ്
        A:-Capital
�ലധനം
        B:-Asset
അസ�്
        C:-Loan
േലാൺ
        D:-None of the above
�കളിൽ പറ�വെയാ�മ�
        Correct Answer:- Option-A
Question6:-Trade receivables means
േ�ഡ് സ�ീകാര�ത അർ�മാ��ത്
        A:-Debtors + Bills receivables
കട�ാർ + ബി�കൾ സ�ീകരി��വ
        B:-Debtors – Bills receivables
കട�ാർ – ബി�കൾ സ�ീകരി��വ
        C:-Debtors + Bills payable
കട�ാർ + അടേ�� ബി�കൾ
        D:-Debtors – Bills payable
കട�ാർ – അടേ�� ബി�കൾ
        Correct Answer:- Option-A
Question7:-The managing partner of ABC Enterprises gives a gift to his alma mater costing Rs.5 lakh. How this amount will be recorded in the books?
എബിസി എൻറർൈ�സസിൻെറ മാേനജിംഗ് പാർട്ണർ തൻെറ ആൽമ െമ�റിന് ഒ� സ�ാനം 5 ല�ം �പ നൽ��. ഈ �ക എ�െന ��ക�ളിൽ േരഖെ���ം?
        A:-Expenses
െചല�കൾ
        B:-Sales
വിൽ�ന
        C:-Drawings
േ�ായിം�കൾ
        D:-Capital loss
�ലധന ന�ം
        Correct Answer:- Option-C
Question8:-_________ is concerned with the ascertainment of total cost and per unit cost of goods or services produced or provided by a business
firm.
_________ എ�ത് ഒ� ബിസിനസ് �ാപനം നിർ�ി��േതാ നൽ��േതാ ആയ ചര�ക�െടേയാ േസവന��െടേയാ െമാ�ം വില�ം �ണി�് വില�ം കെ����മായി
ബ�െ��ിരി��.
        A:-Cash Accounting
ക�ാഷ് അെ�ൗ�ിംഗ്
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        B:-Financial Accounting
ഫിനാൻഷ�ൽ അെ�ൗ�ിംഗ്
        C:-Cost Accounting
േകാ�് അെ�ൗ�ിംഗ്
        D:-Book Accounting
��് അെ�ൗ�ിംഗ്
        Correct Answer:- Option-C
Question9:-Which of the following comes first?
താെഴ�റ��വയിൽ ഏതാണ് ആദ�ം വ��ത്?
        A:-Recording of data in book of accounts
അെ�ൗ�ക�െട ��ക�ിൽ ഡാ� േരഖെ����
        B:-Communication of information
വിവര��െട ആശയവിനിമയം
        C:-Preparation of summaries
സം�ഹ�ൾ ത�ാറാ�ൽ
        D:-Analysis of information
വിവര��െട വിശകലനം
        Correct Answer:- Option-A
Question10:-Pick the incorrect statement about Cost Accounting.
േകാ�് അെ�ൗ�ിംഗിെന�റി�� െത�ായ ��ാവന തിരെ���ക.
        A:-Provides financial information regarding cost of acquiring resources
വിഭവ�ൾ ഏെ����തി�� െചലവ് സംബ�ി� സാ��ിക വിവര�ൾ നൽ��
        B:-Provides pricing information from marketing studies
മാർ��ിംഗ് പഠന�ളിൽ നി�� വിലനിർ�യ വിവര�ൾ നൽ��
        C:-Information for management accounting and financial accounting
മാേനജ്െമൻറ് അെ�ൗ�ിംഗി�ം ഫിനാൻഷ�ൽ അെ�ൗ�ിംഗി��� വിവര�ൾ
        D:-Provides non-financial information regarding the cost of operational efficiencies
�വർ�ന�മത�െട െചലവ് സംബ�ി�് സാ��ിേകതര വിവര�ൾ നൽ��
        Correct Answer:- Option-D
Question11:-According to which principle, the economic life of an enterprise is artificially split into periodic intervals?
ഏത് ത��മ�സരി�ാണ്, ഒ� എൻറർൈ�സസിൻെറ സാ��ിക ജീവിതം ��ിമമായി ആ�കാലിക ഇടേവളകളായി വിഭജി�ിരി��ത്?
        A:-Consistency principle
�ിരത തത�ം
        B:-Accounting period principle
അെ�ൗ�ിംഗ് കാലയളവ് തത�ം
        C:-Going concern principle
േഗായിംഗ് കൺേസൺ തത�ം
        D:-Accrual principle
അ�വൽ തത�ം
        Correct Answer:- Option-B
Question12:-A concept that a business enterprise will not be sold or liquidated in the near future is known as
സമീപഭാവിയിൽ ഒ� ബിസിന�് എൻറർൈ�സ് വിൽ�കേയാ ലിക�ിേഡ�് െച�കേയാ െച�ി� എ� ആശയം അറിയെ���ത്
        A:-Going concern
േഗായിങ് കൺേസൺ
        B:-Economic entity
സാ��ിക �ാപനം
        C:-Monetary unit
േമാണി�റി �ണി�്
        D:-None of these
ഇവെയാ�മ�
        Correct Answer:- Option-A
Question13:-Management concealing important financial information violates which principle
�ധാന സാ��ിക വിവര�ൾ മറ�െവ�� മാേനജ്െമൻറ് ഏത് തത�െ� ലംഘി��
        A:-Consistency principle
�ിരത തത�ം
        B:-Full disclosure
�ർ�മായ െവളിെ���ൽ
        C:-Accounting system
അെ�ൗ�ിംഗ് സി�ം
        D:-None of the above
�കളിൽ പറ�വെയാ�മ�
        Correct Answer:- Option-B
Question14:-Accounting Standards in India was developed by
ഇ��യിെല അെ�ൗ�ിംഗ് മാനദ��ൾ വികസി�ിെ���ത്
        A:-All India Standards Board
ഓൾ ഇ�� �ാൻേഡർഡ് േബാർഡ്
        B:-Accounting Standard Board
അെ�ൗ�ിംഗ് �ാൻേഡർഡ് േബാർഡ്
        C:-SEBI
െസബി
        D:-None of the above
�കളിൽ പറ�വെയാ�മ�
        Correct Answer:- Option-B
Question15:-Ensuring that all possible losses are recorded in the books is called ________.
സാധ�മായ എ�ാ ന���ം ��ക�ളിൽ േരഖെ���ിയി�െ��് ഉറ�വ���തിെന ________ എ�് വിളി��.
        A:-Prudence
വിേവകം
        B:-Double entry
ഇര� �േവശനം
        C:-Consistency
�ിരത
        D:-None of the above
�കളിൽ പറ�വെയാ�മ�
        Correct Answer:- Option-A
Question16:-Which document is issued at the time of purchase returns?
പർേ�സ് റിേ�ൺ സമയ�് ഏത് േരഖയാണ് നൽ��ത്?
        A:-Credit note
െ�ഡി�് േനാ�്
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        B:-Debit note
െഡബി�് േനാ�്
        C:-Cash voucher
ക�ാഷ് െവൗ�ർ
        D:-Credit voucher
െ�ഡി�് െവൗ�ർ
        Correct Answer:- Option-B
Question17:-Which of the following is transfer voucher?
താെഴ�റ��വയിൽ ഏതാണ് �ാൻ�ർ െവൗ�ർ?
        A:-Transaction not involving cash
പണം ഉൾെ���ത� ഇടപാട്
        B:-Return of goods purchased by cash payment, due to defects
തകരാ�കൾ കാരണം പണമട�് വാ�ിയ സാധന�ൾ തിരിെക നൽ�ക
        C:-Payment of rent in cash
വാടക പണമായി അട�ക
        D:-None of the above
�കളിൽ പറ�വെയാ�മ�
        Correct Answer:- Option-A
Question18:-Which copy of bill is handed over to the purchaser?
ബി�ിൻെറ ഏത് പകർ�ാണ് വാ��യാൾ�് ൈകമാ��ത്?
        A:-Original
ഒറിജിനൽ
        B:-Duplicate
ഡ��ിേ��്
        C:-Triplicate
�ി�ിേ��്
        D:-None of the above
�കളിൽ പറ�വെയാ�മ�
        Correct Answer:- Option-A
Question19:-Pick out the correct statement.
ശരിയായ ��ാവന തിരെ���ക.
        A:-Liabilities = Assets + Capital
ബാധ�തകൾ = ആ�ികൾ + �ലധനം
        B:-Assets = Liabilities – Capital
ആ�ികൾ = ബാധ�തകൾ – �ലധനം
        C:-Capital = Assets – Liabilities
�ലധനം = ആ�ികൾ – ബാധ�തകൾ
        D:-Capital = Assets + Liabilities
�ലധനം = ആ�ികൾ + ബാധ�തകൾ
        Correct Answer:- Option-C
Question20:-Which is correct about cash purchases?
ക�ാഷ് പർേ��കളിൽ ഏതാണ് ശരി?
        A:-There is increase in assets
ആ�ികളിൽ വർ�ന��്
        B:-There is increase in equity
ഇക�ി�ിയിൽ വർ�ന��്
        C:-There is decrease in assets
ആ�ികളിൽ �റ��്
        D:-No effect on assets
ആ�ികെള ബാധി�ി�
        Correct Answer:- Option-D
Question21:-Balance sheet
ബാലൻസ് ഷീ�്
        A:-Has only debit side
െഡബി�് ൈസഡ് മാ�േമ��
        B:-Has only credit side
െ�ഡി�് ൈസഡ് മാ�േമ ഉ�
        C:-Is only a statement
ഒ� ��ാവന മാ�മാണ്
        D:-None of the above
�കളിൽ പറ�വെയാ�മ�
        Correct Answer:- Option-C
Question22:-Asset and capital decreases by same amount in the case of ________.
________ ൻെറ കാര��ിൽ അസ�ം �ലധന�ം ഒേര അളവിൽ �റ��.
        A:-Cash sales
ക�ാഷ് െസയിൽസ്
        B:-Credit purchase of an equipment
ഒ� ഉപകരണ�ിൻെറ െ�ഡി�് വാ�ൽ
        C:-Depreciation on fixed assets
�ിര ആ�ിക�െട �ല��കർ�
        D:-Goods sold for cash at profit
ലാഭ�ിൽ പണ�ിന് വിൽ�� സാധന�ൾ
        Correct Answer:- Option-C
Question23:-In the case of return of a defective product to the supplier, assets and liabilities ________.
ഒ� വികലമായ ഉൽ��ം വിതരണ�ാരന് തിരിെക നൽ�� സാഹചര��ിൽ, ആ�ിക�ം ബാധ�തക�ം ________.
        A:-Increase
വർ�ി�ി�ക
        B:-Decrease
�റ�ക
        C:-Does not change
മാറി�
        D:-None of the above
�കളിൽ പറ�വെയാ�മ�
        Correct Answer:- Option-B
Question24:-An invoice will contain
ഒ� ഇൻേവായിസിൽ അട�ിയിരി�ം
        A:-Name of party to whom goods are sold
സാധന�ൾ വിൽ�� പാർ�ി�െട േപർ
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        B:-Items sold
വിൽ�� സാധന�ൾ
        C:-Amount of sales
വിൽ�ന�െട അളവ്
        D:-All of the above
�കളിൽ പറ�വെയ�ാം
        Correct Answer:- Option-D
Question25:-Select the correct statement.
ശരിയായ ��ാവന തിരെ���ക.
        A:-Original Invoice is kept with the seller
യഥാർ� ഇൻേവായ്സ് വിൽ�ന�ാരൻെറ പ�ൽ ��ി��
        B:-Invoice or bill is made only in the case of cash transactions only
പണമിടപാ�ക�െട കാര��ിൽ മാ�മാണ് ഇൻേവായ്സ് അെ��ിൽ ബി�് നിർ�ി��ത്
        C:-Original bill/invoice is sent to the buyer
ഒറിജിനൽ ബിൽ/ഇൻേവായ്സ് വാ��യാൾ�് അയ��
        D:-None of the above
മകളിൽ പറ�വെയാ�മ�
        Correct Answer:- Option-C
Question26:-Case X – Source documents are required for auditing and tax purpose
Case Y – Source documents are not legal documents
Select correct option from below:

േകസ് X – ഓഡി�ി�ി�ം നി�തി ആവശ��ൾ�ം ഉറവിട േരഖകൾ ആവശ�മാണ്
േകസ് Y – ഉറവിട േരഖകൾ നിയമപരമായ േരഖകള�
താെഴ നി�് ശരിയായ ഓപ്ഷൻ തിരെ���ക.
        A:-Both cases are correct
ര�് േക�ക�ം ശരിയാണ്
        B:-Both cases are wrong
ര�് േക�ക�ം െത�ാണ്
        C:-Case X only is correct
േകസ് X മാ�ം ശരിയാണ്
        D:-Case Y only is correct
േകസ് Y മാ�ം ശരിയാണ്
        Correct Answer:- Option-C
Question27:-Assertion : If goods worth Rs. 5000 are sold off for Rs. 4500 at credit, then assets will decrease, liabilities will be unchanged and capital
will decrease.
Reason   :  In case, goods are sold on credit, goods-assets are decreased and debtors - assets are increased. Also, if goods are sold at a loss, the
capital is reduced.

അവകാശവാദം : 5,000 �പ വില�� സാധന�ൾ 4,500 �പ�് െ�ഡി�ിൽ വിൽ�� ആെണ�ിൽ അേ�ാൾ ആ�ികൾ �റ�ം, ബാധ�തകൾ മാ�മി�ാെത �ട�ം, �ലധനം �റ�ം
കാരണം : ചര�കൾ െ�ഡി�ിൽ വിൽ�കയാെണ�ിൽ, ചര�് ആ�ികൾ �റ�ക�ം കട�ാർ - ആ�ികൾ വർ�ി�ക�ം െച��. �ടാെത, സാധന�ൾ ന��ിൽ വിൽ�കയാെണ�ിൽ
�ലധനം �റ��.
        A:-Both assertion and reason are true and the reason is true explanation of the assertion
അവകാശവാദ�ം കാരണ�ം ശരിയാണ്, കാരണം ��ാവ�ിെൻറ യഥാർ� വിശദീകരണമാണ്
        B:-Both assertion and reason are true and the reason is not the correct explanation of the assertion.
അവകാശവാദ�ം കാരണ�ം ശരിയാണ്, കാരണം ��ാവ�ിെൻറ യഥാർ� വിശദീകരണമ�
        C:-Assertion is true reason is false
അവകാശവാദം ശരിയാണ് കാരണം െത�ാണ്
        D:-Assertion is false reason is true
അവകാശവാദം െത�ാണ് കാരണം ശരിയാണ്
        Correct Answer:- Option-A
Question28:-Assets of a business are Rs.5 lakh and its liabilities are Rs. 50,000. What will be the amount of owner's equity?
ഒ� ബിസിനസിൻെറ ആ�ി 5 ല�ം �പ�ം അതിൻെറ ബാധ�തകൾ 50,000 �പ�മാണ്. ഉടമ�െട ഇക�ി�ി�െട �ക എ�യായിരി�ം?
        A:-Rs. 5.5 lakh
�. 5.5 ല�ം
        B:-Rs. 4.5 lakh
�. 4.5 ല�ം
        C:-Rs. 5 lakh
�. 5 ല�ം
        D:-Rs. 50,000
�. 50,000
        Correct Answer:- Option-B
Question29:-The journal entry to record the sale of services on credit should include
െ�ഡി�് േസവന��െട വിൽ�ന േരഖെ����തി�� േജണൽ എൻ�ി ഉൾെ���ണം
        A:-Debit to debtors and credit to capital
കട�ാേരാട് െഡബി�്, �ലധന�ിന് െ�ഡി�്
        B:-Debit to cash and credit to debtors
പണ�ിേല�� െഡബി�്, കട�ാർ�് െ�ഡി�്
        C:-Debit to fees income and credit to debtors
ഫീസ് വ�മാന�ിേല�� െഡബി�്, കട�ാർ�് െ�ഡി�്
        D:-Debit to debtors and credit to fees income
കട�ാേരാട് െഡബി�്, ഫീസ് വ�മാന�ിന് െ�ഡി�്
        Correct Answer:- Option-D
Question30:-The ledger folio column of journal is used to _________.
േജണലിൻെറ െലഡ്ജർ േഫാളിേയാ േകാളം _________-ന് ഉപേയാഗി��.
        A:-Record the date on which amount posted to a ledger account
ഒ� െലഡ്ജർ അെ�ൗ�ിേല�് �ക േപാ�് െച� തീയതി േരഖെ���ക
        B:-Record the number of ledger account to which information is posted
വിവര�ൾ േപാ�് െച� െലഡ്ജർ അെ�ൗ�ിൻെറ എ�ം േരഖെ���ക
        C:-Record the number of amounts posted to ledger account
െലഡ്ജർ അെ�ൗ�ിേല�് േപാ�് െച� �കക�െട എ�ം േരഖെ���ക
        D:-Record the page number of ledger account
െലഡ്ജർ അെ�ൗ�ിൻെറ േപജ് ന�ർ േരഖെ���ക
        Correct Answer:- Option-D
Question31:-Balancing of accounts means
അെ�ൗ�ക�െട ബാലൻസ് എ�ർ�ം
        A:-Total of debit side
െഡബി�് ൈസഡിൻെറ ആെക�ക
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        B:-Total of credit side
െ�ഡി�് വശ�ിൻെറ ആെക�ക
        C:-Difference in total of debit and credit
െഡബി�ിൻെറ�ം െ�ഡി�ിൻെറ�ം ആെക വ�ത�ാസം
        D:-None of the above
�കളിൽ പറ�വെയാ�മ�
        Correct Answer:- Option-C
Question32:-Journal entry to record payment of monthly bill will include ________
�തിമാസ ബി�ിൻെറ െറേ�ാർഡ് േപെ�ൻറിേല�� േജണൽ എൻ�ിയിൽ ________ ഉൾെ���
        A:-Debit monthly bill and credit capital
�തിമാസ ബി�ം െ�ഡി�് �ലധന�ം െഡബി�് െച�ക
        B:-Debit capital and credit cash
െഡബി�് ക�ാപി��ം െ�ഡി�് ക�ാ�ം
        C:-Debit monthly bill and credit cash
�തിമാസ ബി�ം െ�ഡി�് പണ�ം െഡബി�് െച�ക
        D:-Debit monthly bill and credit creditors
�തിമാസ ബി�ം െ�ഡി�് കട�ാ�ം െഡബി�് െച�ക
        Correct Answer:- Option-C
Question33:-Journal entry to record salaries will include
േറേ�ാർഡ് ശ�ള�ിേല�� േജണൽ എൻ�ി ഉൾെ��ം
        A:-Debit salaries, credit cash
െഡബി�് ശ�ളം, െ�ഡി�് ക�ാഷ്
        B:-Debit capital, credit cash
െഡബി�് ക�ാപി�ൽ, െ�ഡി�് ക�ാഷ്
        C:-Debit cash, credit salary
െഡബി�് ക�ാഷ്, െ�ഡി�് ശ�ളം
        D:-Debit salary, credit creditors
െഡബി�് ശ�ളം, െ�ഡി�് കട�ാർ
        Correct Answer:- Option-C
Question34:-Cash withdrawn by proprietor should be credited to ________.
ഉടമ�ൻ പിൻവിലി� പണം ________ എ�തിേല�് െ�ഡി�് െച�ണം.
        A:-Drawings account
േ�ായിംഗ് അെ�ൗ�്
        B:-Capital account
ക�ാപി�ൽ അെ�ൗ�്
        C:-Profit and loss account
ലാഭന� അെ�ൗ�്
        D:-Cash account
ക�ാഷ് അെ�ൗ�്
        Correct Answer:- Option-A
Question35:-Double column cash book record
ഇര� േകാളം ക�ാഷ് ��് െറേ�ാർഡ്
        A:-All transactions
എ�ാ ഇടപാ�ക�ം
        B:-Cash and bank transaction
പണ�ം ബാ�് ഇടപാ�ം
        C:-Only cash transactions
പണമിടപാ�കൾ മാ�ം
        D:-Only credit transactions
െ�ഡി�് ഇടപാ�കൾ മാ�ം
        Correct Answer:- Option-B
Question36:-Which book is prepared to book small amounts by cashier to save valuable time of main cashier?
�ധാന കാഷ��െട വിലേയറിയ സമയം ലാഭി��തിനായി കാഷ�ർ വഴി െചറിയ �കകൾ ��് െച�ാൻ ത�ാറാ�ിയ ��കം ഏതാണ്?
        A:-Three-column cash book
��് േകാളം ക�ാഷ് ��്
        B:-Two-column cash book
ര�് േകാളം ക�ാഷ് ��്
        C:-Petty cash book
െപ�ി ക�ാഷ് ��്
        D:-None of the above
�കളിൽ പറ�വെയാ�മ�
        Correct Answer:- Option-C
Question37:-Purchase book is also known as
വാ�ൽ ��കം _________ എ�ം അറിയെ���
        A:-Invoice book
ഇൻേവായ്സ് ��്
        B:-Bought book
വാ�ൽ ��കം
        C:-Sales book
വിൽ�ന ��കം
        D:-Both (1) and (2)
(1), (2) ര�ം
        Correct Answer:- Option-D
Question38:-Goods purchased on cash are recorded in the ________.
പണമായി വാ�ിയ സാധന�ൾ ________ ൽ േരഖെ���ിയിരി��.
        A:-Purchase (journal) book
വാ�ൽ (േജണൽ) ��കം
        B:-Sales (journal) book
െസയിൽസ് (േജണൽ) ��കം
        C:-Cash book
ക�ാഷ് ��്
        D:-Purchases return book
വാ�� റിേ�ൺ ��്
        Correct Answer:- Option-C
Question39:-Cash book does not record transaction of
ക�ാഷ് ��് ഇടപാട് േരഖെ����ി�
        A:-Cash nature
പണ�ിൻെറ സ�ഭാവം

Home Page http://192.168.1.6/dept/modules/marklist/answe...

5 of 14 Tuesday 28 May 2024 11:53 AM



        B:-Credit nature
െ�ഡി�് സ�ഭാവം
        C:-Cash and credit nature
പണ�ം െ�ഡി�് സ�ഭാവ�ം
        D:-None of the above
�കളിൽ പറ�വെയാ�മ�
        Correct Answer:- Option-B
Question40:-Total of which of the following is posted in purchase account?
താെഴ�റ��വയിൽ ഏതാണ് പർേ�സ് അെ�ൗ�ിൽ േപാ�് െച�ിരി��ത്?
        A:-Purchases of furniture
ഫർണി�ർ വാ��കൾ
        B:-Cash and credit purchases
പണ�ം െ�ഡി�് വാ��ം
        C:-Purchases return
പർേ�സ് റിേ�ൺ
        D:-Purchases of stationary
േ�ഷണറി വാ��കൾ
        Correct Answer:- Option-B
Question41:-When there is return of goods in a journal, then a debit note is prepared and sent to supplier. What type of journal is used?
ഒ� േജണലിൽ സാധന�ൾ തിരിെക വ�േ�ാൾ, ഒ� െഡബി�് േനാ�് ത�ാറാ�ി വിതരണ�ാരന് അയ��. ഏത് തര�ി�� േജണലാണ് ഉപേയാഗി��ത്?
        A:-Sales return journal
െസയിൽസ് റിേ�ൺ േജണൽ
        B:-Purchases return journal
പർേ�സ് റിേ�ൺ േജണൽ
        C:-Cash sale journal
ക�ാഷ് െസയിൽ േജണൽ
        D:-Cash purchase journal
ക�ാഷ് പർേ�സ് േജണൽ
        Correct Answer:- Option-B
Question42:-Advantages of maintaining petty cash book
(i)    Saving of time and effort of main cashier
(ii)   Effective control over cash disbursements
(iii)  Convenient recording

െപ�ി ക�ാഷ് ��് ��ി��തിൻെറ �േയാജന�ൾ
(i)    �ധാന കാഷ��െട സമയ�ം പരി�മ�ം ലാഭി��
(ii)   പണം വിതരണം െച��തിൽ ഫല�ദമായ നിയ�ണം
(iii)  െസൗകര��ദമായ െറേ�ാർഡിംഗ്
        A:-(i) only
(i) മാ�ം
        B:-(i) and (ii) only
(i) �ടാെത (ii) മാ�ം
        C:-(i), (ii) and (iii)
(i), (ii) �ടാെത (iii)
        D:-(ii) and (iii) only
(ii) �ടാെത (iii) മാ�ം
        Correct Answer:- Option-C
Question43:-Which of the following will be recorded in cash book?
താെഴ�റ��വയിൽ ഏതാണ് ക�ാഷ് ��ിൽ േരഖെ���ക?
        A:-Trade discount of Rs. 3,000
3,000 �പ�െട വ�ാപാര കിഴിവ്
        B:-Bad debts of Rs. 2,945
2,945 �പ�െട കി�ാ�ടം
        C:-Credit purchases of Rs. 14,635
14,635 �പ�െട െ�ഡി�് വാ��കൾ
        D:-None of the above
�കളിൽ പറ�വെയാ�മ�
        Correct Answer:- Option-D
Question44:-Which of the following is a contra entry?
താെഴ�റ��വയിൽ ഏതാണ് േകാൺ�ാ എൻ�ി?
        A:-Salary paid Rs. 43,565
ശ�ളം നൽകിയത് �.43,565
        B:-Cash received from Sreejith Rs. 5,000
�ീജി�ിൽ നി�് ലഭി� പണം �.5,000
        C:-Cash deposited into State Bank of India Rs. 55,000
േ��് ബാ�് ഓഫ് ഇ��യിൽ നിേ�പി� പണം �.55,000
        D:-Cash withdrawn from bank for personal use
വ��ിഗത ഉപേയാഗ�ിനായി ബാ�ിൽ നി�് പിൻവലി� പണം
        Correct Answer:- Option-C
Question45:-Which of the following transactions will not be included in the cash book?
താെഴ�റ�� ഇടപാ�കളിൽ ഏതാണ് ക�ാഷ് ��ിൽ ഉൾെ���ാ�ത്?
        A:-Cash receipt from Rahman for Rs. 1,500
ര�ാനിൽ നി�് 1,500 �പ�െട പണ രസീത്
        B:-Purchase worth Rs. 25,000
25,000 �പ വില�� വാ�ൽ
        C:-Credit sales worth Rs. 2,000
2,000 �പ �ല��� െ�ഡി�് വിൽ�ന
        D:-Cash sales worth Rs. 1,000
1,000 �പ വില�� പണ വിൽ�ന
        Correct Answer:- Option-C
Question46:-Trial balance is prepared after
�യൽ ബാലൻസ് ത�ാറാ�ിയതിന് േശഷം
        A:-Preparation of financial statement
സാ��ിക ��ാവന ത�ാറാ�ൽ
        B:-Recording transactions in subsidiary book
സബ്സിഡിയറി ��ിൽ ഇടപാ�കൾ േരഖെ����
        C:-Posting to ledger is complete
െലഡ്ജറിേല�് േപാ�െച��ത് �ർ�ിയായി
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        D:-Posting to ledger is complete and accounts have been balanced
െലഡ്ജറിേല�് േപാ�െച��ത് �ർ�ിയായി, അെ�ൗ�കൾ ബാലൻസ് െച�
        Correct Answer:- Option-D
Question47:-Trial balance shows
�യൽ ബാലൻസ് കാണി��
        A:-Final position of accounts
അെ�ൗ�ക�െട അ�ിമ �ാനം
        B:-Standard position of accounts
അെ�ൗ�ക�െട �ാൻേഡർഡ് �ാനം
        C:-Working position of accounts
അെ�ൗ�ക�െട �വർ�ന �ാനം
        D:-None of the above
�കളിൽ പറ�വെയാ�മ�
        Correct Answer:- Option-A
Question48:-Trial balance provides a basis for ________.
�യൽ ബാലൻസ് ________ എ�തിന് ഒ� അടി�ാനം നൽ��.
        A:-Auditing accounting reports
അെ�ൗ�ിംഗ് റിേ�ാർ�കൾ ഓഡി�് െച��
        B:-Accuracy of ledger accounts
െലഡ്ജർ അെ�ൗ�ക�െട �ത�ത
        C:-Further processing of accounting data
അെ�ൗ�ിംഗ് ഡാ��െട ��തൽ േ�ാസ�ിംഗ്
        D:-All of the above
�കളിൽ പറ�വെയ�ാം
        Correct Answer:- Option-C
Question49:-Agreement of trial balance is affected by
�യൽ ബാലൻസ് ഉട�ടി ബാധി��
        A:-One-sided errors only
ഏകപ�ീയമായ പിശ�കൾ മാ�ം
        B:-Two-sided errors only
ര�് വശ��� പിശ�കൾ മാ�ം
        C:-Both the above
�കളിൽ പറ�വ ര�ം
        D:-None of the above
�കളിൽ പറ�വെയാ�മ�
        Correct Answer:- Option-A
Question50:-One trader is preparing trial balance. It has maintained all the books of accounts properly. What is the best method to prepare trial
balance?
ഒ� വ�ാപാരി �യൽ ബാലൻസ് ത�ാറാ��. എ�ാ കണ�് ��ക��ം �ത�മായി ��ി�ി��്. �യൽ ബാലൻസ് ത�ാറാ��തി�� ഏ��ം ന� മാർ�ം ഏതാണ്?
        A:-Balance total method
ബാലൻസ് േടാ�ൽ രീതി
        B:-Total method
ആെക രീതി
        C:-Balance method
ബാലൻസ് രീതി
        D:-None of the above
�കളിൽ പറ�വെയാ�മ�
        Correct Answer:- Option-C
Question51:-Trial balance can be prepared under balance method, only when
ബാലൻസ് രീതിയിൽ �യൽ ബാലൻസ് ത�ാറാ��ത് എേ�ാഴാണ്?
        A:-All entries are made in journal
എ�ാ എൻ�ിക�ം േജണലിലാണ് നിർ�ി�ിരി��ത്
        B:-All subsidiary books are maintained
എ�ാ സബ്സിഡിയറി ��ക�ം പരിപാലി�െ���
        C:-All ledger accounts have been balanced
എ�ാ െലഡ്ജർ അെ�ൗ�ക�ം ബാലൻസ് െച�
        D:-All balances have been transferred to final accounts
എ�ാ ബാലൻ�ക�ം ൈഫനൽ അെ�ൗ�കളിേല�് �ാൻ�ർ െച�
        Correct Answer:- Option-C
Question52:-A trader has prepared trial balance and total doesn't tie. Which approach the trader should follow?
ഒ� വ�ാപാരി �യൽ ബാലൻസ് ത�ാറാ�ിയി��് േടാ�ൽ ശരിയായിെ��ിൽ. വ�ാപാരി ഏത് സമീപനമാണ് പി�ടേര�ത്?
        A:-He should recheck all the ledger
അവൻ എ�ാ െലഡ്ജ�ം വീ�ം പരിേശാധി�ണം
        B:-He should recheck the total of trial balance
�യൽ ബാലൻസ് അവൻ വീ�ം പരിേശാധി�ണം
        C:-He should open the suspense account
അവൻ സെ�ൻസ് അെ�ൗ�് �റ�ണം
        D:-All of the above
�കളിൽ പറ�വെയ�ാം
        Correct Answer:- Option-D
Question53:-Balance method is the most commonly used method of preparing trial balance as it facilitates preparation of final account where
�യൽ ബാലൻസ് ത�ാറാ��തി�� ഏ��ം സാധാരണയായി ഉപേയാഗി�� രീതി ബാലൻസ് രീതിയാണ്, കാരണം ഇത് അ�ിമ അെ�ൗ�് ത�ാറാ�ാൻ സഹായി��
        A:-All ledger accounts are showcased
എ�ാ െലഡ്ജർ അെ�ൗ�ക�ം �ദർശി�ി�ിരി��
        B:-Debit/Credit column are totalled
െഡബി�്/െ�ഡി�് േകാളം ആെക
        C:-Balances are transferred
ബാലൻ�കൾ ൈകമാ��
        D:-Both (1) and (2)
(1), (2) ര�ം
        Correct Answer:- Option-D
Question54:-A bank reconciliation statement is prepared by
ഒ� ബാ�് അ�ര�ന ��ാവന ത�ാറാ��ത്
        A:-Creditors
െ�ഡി�ർ
        B:-Bank
ബാ�്
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        C:-Account holder in the bank
ബാ�ിെല അെ�ൗ�് ഉടമ
        D:-Debtors
െഡ�ർ
        Correct Answer:- Option-C
Question55:-A bank reconciliation statement is prepared with the balance of
______ െൻറ ബാലൻസ് ഉപേയാഗി�് ഒ� ബാ�് അ�ര�ന ��ാവന ത�ാറാ��.
        A:-Pass book
പാസ് ��്
        B:-Cash book
ക�ാഷ് ��്
        C:-Both (1) and (2)
(1) ഉം (2) ഉം
        D:-None of the above
�കളിൽ പറ�വെയാ�മ�
        Correct Answer:- Option-C
Question56:-Pass book is a copy of
പാസ് ��് ഇതിൻെറ ഒ� പകർ�ാണ്
        A:-Customer account
ക�മർ അെ�ൗ�്
        B:-Bank column of cash book
ക�ാഷ് ��ിൻെറ ബാ�് േകാളം
        C:-Cash column of cash book
ക�ാഷ് ��ിൻെറ ക�ാഷ് േകാളം
        D:-Receipts and payments
രസീ�ക�ം േപെ�ൻ�ക�ം
        Correct Answer:- Option-A
Question57:-In case when balance of cash book is given, first item in bank reconciliation statement will be balance as per _________.
ക�ാഷ് ��് ബാലൻസ് നൽ�േ�ാൾ, ബാ�് അ�ര�ന ��ാവനയിെല ആദ� ഇനം _________ �കാരം ബാലൻസ് ആയിരി�ം.
        A:-Cash
പണം
        B:-Bank
ബാ�്
        C:-Cash book
ക�ാഷ് ��്
        D:-Bank book
ബാ�് ��്
        Correct Answer:- Option-C
Question58:-In which approach, balance as per cash book or balance as per passbook is taken as starting item?
ഏത് സമീപന�ിലാണ്, ക�ാഷ് ��് �കാര�� ബാലൻസ് അെ��ിൽ പാസ്��് �കാര�� ബാലൻസ് �ാരംഭ ഇനമായി എ���ത്?
        A:-In case of with adjusting cash book
ക�ാഷ് ��് �മീകരി�� സാഹചര��ിൽ
        B:-In case of after adjusting cash book
ക�ാഷ് ��് �മീകരി�തിന് േശഷം
        C:-In case of without adjusting cash book
ക�ാഷ് ��് �മീകരി�ാ� സാഹചര��ിൽ
        D:-None of the above
�കളിൽ പറ�വെയാ�മ�
        Correct Answer:- Option-C
Question59:-A book reconciliation statement is mainly prepared for
(i)   Reconciling the cash balance of cash book
(ii)  Reconciling the difference between bank balance shown by cash book and bank passbook

ഒ� ��ക അ�ര�ന ��ാവനയാണ് �ധാനമാ�ം ത�ാറാ��ത്
(i)   ക�ാഷ് ��ിൻെറ ക�ാഷ് ബാലൻസ് സമന�യി�ി��
(ii)  ക�ാഷ് ��ം ബാ�് പാസ്��ം കാണി�� ബാ�് ബാലൻസ് ത�ി�� വ�ത�ാസം അ�ര�ി�ി�ക
        A:-Only (i)
(i) മാ�ം
        B:-Only (ii)
(ii) മാ�ം
        C:-Both (i) and (ii)
(i) ഉം (ii) ഉം
        D:-None of the above
�കളിൽ പറ�വെയാ�മ�
        Correct Answer:- Option-C
Question60:-When pass book balance is taken as starting point the items which make the pass book balance ________ than cash book balance must
be deducted for the purpose of reconciliation.
പാസ് ��് ബാലൻസ് ആരംഭ േപായിൻറായി എ��േ�ാൾ, ക�ാഷ് ��് ബാലൻസ് _________ ആ�� ഇന�െള അ�ര�ന�ിനായി �റ�ണം.
        A:-Higher
ഉയർ�ത്
        B:-Lower
താെഴ
        C:-Equal
�ല�ം
        D:-None of the above
�കളിൽ പറ�വെയാ�മ�
        Correct Answer:- Option-A
Question61:-If the overdraft as per pass book is taken as the starting point, the cheques issued but not presented are to be ________ in the bank
reconciliation statement.
ബാസ് ��് �കാര�� ഓവർ�ാ�് ആരംഭ േപായിൻറായി എ��കയാെണ�ിൽ, നൽകിയ െച�കൾ എ�ാൽ ഹാജരാ�ാ�ത് ബാ�് അ�ര�ന ��ാവനയിൽ _________ ആയിരി�ണം.
        A:-Deducted
�റ�ിരി��
        B:-Added
േചർ�
        C:-Ignored
അവഗണി�
        D:-None of the above
�കളിൽ പറ�വെയാ�മ�
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        Correct Answer:- Option-B
Question62:-How is deposit in transit treated in bank reconciliation?
�ാൻസി�ിെല നിേ�പം ബാ�് അ�ര�ന�ിൽ എ�െനയാണ് പരിഗണി��ത്?
        A:-It will be added to bank balance
ഇത് ബാ�് ബാലൻസിേല�് േചർ�ം
        B:-It will be deducted from bank balance
ഇത് ബാ�് ബാലൻസിൽ നി�് �റ�ം
        C:-It will be deducted from the cash book balance
ഇത് ക�ാഷ് ��് ബാലൻസിൽ നി�് �റ�ം
        D:-It will be added to cash book balance
ഇത് ക�ാഷ് ��് ബാലൻസിേല�് േചർ�ം
        Correct Answer:- Option-A
Question63:-In the bank statement, where the balance is followed by debit means that there is
ബാ�് േ��്െമൻറിൽ, ബാലൻസിന് േശഷം െഡബി�് വ��ിട�് ഉ�് എ�ാണ് അർ�മാ��ത്
        A:-Overdraft
ഓവർ�ാ�്
        B:-Positive balance
േപാസി�ീവ് ബാലൻസ്
        C:-Zero balance
സീേറാ ബാലൻസ്
        D:-None of these
ഇവെയാ�മ�
        Correct Answer:- Option-A
Question64:-A cheque of Rs. 5,000 was deposited into bank but was not recorded in the cash book. How will it be treated for the purpose of bank
reconciliation statement?
5,000 �പ�െട െച�് ബാ�ിൽ നിേ�പിെ��ി�ം ക�ാഷ് ��ിൽ േരഖെ���ിയി��ി�. ബാ�് അ�ര�ന ��ാവന�െട ഉേ�ശ��ിനായി ഇത് എ�െന പരിഗണി�ം?
        A:-Rs. 5,000 will be deducted from the balance as per passbook
പാസ്��് �കാരം ബാലൻസിൽ നി�് 5,000 �പ �റ�ം
        B:-Rs. 5,000 will be deducted from the balance as per cash book
ക�ാഷ് ��് �കാരം ബാലൻസിൽ നി�് 5,000 �പ �റ�ം
        C:-Rs. 5,000 will be added to the balance as per passbook
പാസ്��് �കാരം 5,000 �പ ബാലൻസിേല�് േചർ�ം
        D:-Rs. 5,000 will be added to the balance as per cash book
ക�ാഷ് ��് �കാരം 5,000 �പ ബാലൻസിേല�് േചർ�ം
        Correct Answer:- Option-A
Question65:-Depreciation is ________.
�ല��കർ� ________ ആണ്.
        A:-A current cost
നിലവിെല െചലവ്
        B:-A sequence cost
ഒ� �ടർ� െചലവ്
        C:-An expired cost
ഒ� കാലഹരണെ�� െചലവ്
        D:-A matured cost
ഒ� പക�മായ െചലവ്
        Correct Answer:- Option-C
Question66:-Which of the following is not depreciable?
താെഴ�റ��വയിൽ �ല��കർ�യി�ാ�ത് ഏതാണ്?
        A:-Plant
�ാൻറ്
        B:-Machinery
െമഷിനറി
        C:-Land
�മി
        D:-Building
െക�ിടം
        Correct Answer:- Option-C
Question67:-Due to the presence of ________, the financial position of the company is better than it appears from the balance sheet.
________ ൻെറ സാ�ിധ�ം കാരണം, ക�നി�െട സാ��ിക �ിതി ബാലൻസ് ഷീ�ിൽ കാ��തിേന�ാൾ മിക�താണ്.
        A:-Retained earnings
നിലനിർ�ിയ വ�മാനം
        B:-Depreciation
�ല��കർ�
        C:-Secret reserves
രഹസ� ക�തൽ
        D:-Amortisation
അേമാർൈ�േസഷൻ
        Correct Answer:- Option-C
Question68:-Provision is a charge against the profits and is created by debiting profit and loss account. In balance sheet, amount may be shown
െ�ാവിഷൻ എ�ത് ലാഭ�ിെനതിരായ ഒ� ചാർജാണ്, ഇത് ലാഭന� അെ�ൗ�് െഡബി�് െച��തി�െടയാണ് ഇത് ��ി��ത്. ബാലൻസ് ഷീ�ിൽ, �ക കാണിേ��ാം
        A:-On assets side
അസ�ക�െട ഭാഗ�്
        B:-Profit and loss account
ലാഭന� അെ�ൗ�്
        C:-Trading account
േ�ഡിംഗ് അെ�ൗ�്
        D:-None of these
ഇവെയാ�മ�
        Correct Answer:- Option-A
Question69:-Expected useful life of an asset means
(i)    The period over which a depreciable asset is expected to be used by the enterprise.
(ii)   The number of production of similar units expected to be obtained from the use of the asset by the enterprise.

ഒ� അസ�ിൻെറ �തീ�ി�� ഉപേയാഗ�ദമായ കാലം
(i)    �ല��കർ��� ഒ� അസ�് എൻറർൈ�സ് ഉപേയാഗി�െമ�് �തീ�ി�� കാലയളവ്
(ii)   എൻറർൈ�സ് അസ�ിൻെറ ഉപേയാഗ�ിൽ നി�് ലഭി�െമ�് �തീ�ി�� സമാന �ണി�ക�െട ഉത്പാദന�ിൻെറ എ�ം
        A:-Only (i)
(i) മാ�ം
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        B:-Only (ii)
(ii) മാ�ം
        C:-Both (i) and (ii)
(i) ഉം (ii) ഉം
        D:-None
ഒ�മി�
        Correct Answer:- Option-C
Question70:-________ refers to writing off the cost of intangible assets like patents, copyright, trademarks, franchises, goodwill which have utility for
a specified period of time.
________ എ�ത് േപ�ൻ�കൾ, പകർ�വകാശം, വ�ാപാര��കൾ, �ാൈ�സികൾ, ഒ� നി�ിത സമയേ��് ��ിലി�ി ഉ� �ഡ�ിൽ �ട�ിയ അ�ശ� ആ�ിക�െട വില എ�തി���തിെന
�ചി�ി��.
        A:-Depreciation
�ല��കർ�്
        B:-Depletion
േശാഷണം
        C:-Amortisation
അേമാർൈ�േസഷൻ
        D:-None of these
ഇവെയാ�മി�
        Correct Answer:- Option-C
Question71:-Depreciable cost of an asset is equal to
ഒ� അസ�ിൻെറ �ല��കർ� ഇതിന് �ല�മാണ്
        A:-Cost + net residual value
െചലവ് + െമാ�ം േശഷി�� �ല�ം
        B:-Cost – net residual value
െചലവ് – െമാ�ം േശഷി�� �ല�ം
        C:-Cost – depreciation
െചലവ് – �ല��കർ�
        D:-None of these
ഇവെയാ�മ�
        Correct Answer:- Option-B
Question72:-Which of the following are causes of depreciation?
(i)    Wear and tear due to use or passage of time
(ii)   Expiration of legal rights
(iii)  Obsolescence
(iv)  Abnormal factors

താെഴ പറ��വയിൽ ഏെതാെ�യാണ് �ല��കർ��് കാരണം?
(i)    ഉപേയാഗേമാ കാല�ഴ�േമാ കാരണം േത�ാനം
(ii)   നിയമപരമായ അവകാശ��െട കാലാവധി
(iii)  കാലഹരണെ�ടൽ
(iv)  അസാധാരണ ഘടക�ൾ
        A:-Only (i)
(i) മാ�ം
        B:-(i) and (iii)
(i) ഒ�ം (iii)
        C:-(i) and (iv)
(i) ഒ�ം (iv)
        D:-All of the above
�കളിൽ പറ�വെയ�ാം
        Correct Answer:- Option-D
Question73:-Which of the following is the correct formula for calculating the original cost of an asset for depreciation?
�ല��കർ��ായി ഒ� അസ�ിൻെറ യഥാർ� വില കണ�ാ��തി�� ശരിയായ ��വാക�ം താെഴ�റ��വയിൽ ഏതാണ്?
        A:-Original cost = purchase price
യഥാർ� വില = വാ�ൽ വില
        B:-Original cost = purchase price + freight
യഥാർ� വില = വാ�ൽ വില + ചര�്
        C:-Original cost = purchase price + freight + installation cost
യഥാർ� വില = വാ�ൽ വില + ചര�് + ഇൻ�േലഷൻ െചലവ്
        D:-None of these
ഇവെയാ�മ�
        Correct Answer:- Option-C
Question74:-Which of the following correctly differentiates between provision and reserves?
താെഴ�റ��വയിൽ ഏതാണ് െ�ാവിഷ�ം റിസർ�ക�ം ത�ിൽ ശരിയായി േവർതിരി��ത്?
        A:-A provision is a charge against profit whereas reserve is an appropriation of profit
ഒ� െ�ാവിഷൻ ലാഭ�ിെനതിരായ ചാർജാണ്, എ�ാൽ ക�തൽ എ�ത് ലാഭ�ിൻെറ വിനിേയാഗമാണ്
        B:-Provision is made for a known liability or expense the amount of which is not certain whereas reserve is created for strengthening the
financial position of the business
അറിയാ�� ബാധ�തേ�ാ െചല�കൾേ�ാ േവ�ി ക�തിെവ�ിരി�� �ക, ബിസിനസിൻെറ സാ��ിക �ിതി ശ�ിെ����തിന് േവ�ി ക�തൽ ��ി�െ��ിരി�േ�ാൾ അതിൻെറ �ക
നി�യമി�
        C:-Provision is deducted before calculating taxable profits whereas a reserve is created from profit after tax and therefore it has no effect on
taxable profit
നി�തി �മ�ാ�� ലാഭം കണ�ാ��തിന് ��് െ�ാവിഷൻ �റ��, അേതസമയം നി�തി�് േശഷ�� ലാഭ�ിൽ നി�് ഒ� ക�തൽ ��ി�െ���, അതിനാൽ ഇത് നി�തി വിേധയമായ
ലാഭെ� ബാധി�ി�
        D:-All of the above
�കളിൽ പറ�വെയ�ാം
        Correct Answer:- Option-D
Question75:-A machine is purchased for Rs. 50,000 and is expected to have a useful life of 10 years. At the end of 10th year it is expected to have a
sale value of Rs. 6000. But expenses related to its disposal are estimated at Rs. 1000. Then its depreciable cost is ________.
ഒ� െമഷീൻ 50,000 �പ�് വാ��. 10 വർഷെ� ഉപേയാഗ�ദമായ ആ��് �തീ�ി��. പ�ാം വർഷ�ിൻെറ അവസാന�ിൽ ഇതിൻെറ വിൽ�ന �ല�ം 6,000 �പ �തീ�ി��.
എ�ാൽ അതിൻെറ വിനിേയാഗ�മായി ബ�െ�� െചല�കൾ കണ�ാ�ിയിരി��ത് �.1,000. അേ�ാൾ അതിൻെറ �ല��കർ� ്________ ആണ്.
        A:-Rs. 45,000
�. 45,000
        B:-Rs. 50,000
�. 50,000
        C:-Rs. 44,000
�. 44,000
        D:-None of these
ഇവെയാ�മ�
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        Correct Answer:- Option-A
Question76:-Error in which its effect is nullified by the effect of another error is called ________.
മെ�ാ� പിശകിൻെറ ഫല�ാൽ അതിൻെറ ഫലം അസാ�വാ�� പിശകിെന ________ എ�് വിളി��.
        A:-Error of commission
ക�ീഷനിെല പിശക്
        B:-Compensating error
പിഴവ് പരിഹരി��
        C:-Error of omission
ഒഴിവാ�ിയതിൽ പിശക്
        D:-None of these
ഇവെയാ�മ�
        Correct Answer:- Option-B
Question77:-Error that does not affect the trial balance _______
�യൽ ബാലൻസിെന ബാധി�ാ� പിശക് _______
        A:-Error of commission
ക�ീഷനിെല പിശക്
        B:-Error of principle
തത��ിൻെറ പിശക്
        C:-Error of complete omission
�ർ�മായ ഒഴിവാ�ലിൻെറ പിശക്
        D:-Both (2) and (3)
(2) ഉം (3) ഉം
        Correct Answer:- Option-D
Question78:-If wages paid for installation of new machinery is debited to wages account, it is
�തിയ െമഷിനറി �ാപി��തി�� �ലി േവജസ് അെ�ൗ�ിേല�് െഡബി�് െച�ാൽ, അത്
        A:-An error of commission
ക�ീഷനിെല ഒ� പിശക്
        B:-An error of principle
തത��ിൽ ഒ� പിശക്
        C:-An error of omission
ഒഴിവാ��തിൽ ഒ� പിശക്
        D:-A compensating error
ഒ� ന�പരിഹാര പിശക്
        Correct Answer:- Option-B
Question79:-Which of the following is not an error of commission?
താെഴ�റ��വയിൽ ഏതാണ് ക�ീഷനിെല പിഴവ് അ�ാ�ത്?
        A:-Overcasting of sales book
െസയിൽസ് ��ിൻെറ ഓവർകാ�ിംഗ്
        B:-Credit sale to some one credited to his account
ഒരാൾ�് അവൻെറ അെ�ൗ�ിേല�് െ�ഡി�് െച� െ�ഡി�് വിൽ�ന
        C:-Wrong balancing of machinery account
െമഷിനറി അെ�ൗ�ിൻെറ െത�ായ ബാലൻസ്
        D:-Cash sales not recorded in cash book
ക�ാഷ് ��ിൽ േരഖെ���ിയി�ി�ാ� പണ വിൽ�ന
        Correct Answer:- Option-D
Question80:-Under casting of sales book is corrected by _________ sales account.
െസയിൽസ് ��ിൻെറ കാ�ിംഗ് _________ െസയിൽസ് അെ�ൗ�് വഴി ശരിയാ��.
        A:-Debiting
െഡബി�് െച��
        B:-Crediting
െ�ഡി�് െച��
        C:-Both debit/credit
െഡബി�്/െ�ഡി�് ര�ം
        D:-None of the above
�കളിൽ പറ�വെയാ�മ�
        Correct Answer:- Option-A
Question81:-It is easy to detect ________ than to _________.
________ എ�തിേന�ാൽ _________ കെ���ത് എ��മാണ്.
        A:-Frauds, errors
ത�ി�കൾ, പിശ�കൾ
        B:-Mistakes, frauds
െത�കൾ, വ�നകൾ
        C:-Errors, frauds
പിശ�കൾ, വ�നകൾ
        D:-Errors, mistakes
പിശ�കൾ, െത�കൾ
        Correct Answer:- Option-C
Question82:-Which of the following is one-sided error?
(i)    Subsidiary book under cast
(ii)   Omission of posting to an account
(iii)  Posting to the wrong side of an account

താെഴ�റ��വയിൽ ഏതാണ് ഏകപ�ീയമായ പിശക്
(i)    സബ്സിഡിയറി ��കം കാ�ിൻെറ കീഴിൽ
(ii)   ഒ� അെ�ൗ�ിേല�് േപാ�െച��ത് ഒഴിവാ�ക
(iii)  ഒ� അെ�ൗ�ിൻെറ െത�ായ വശേ��് േപാ�െച��
        A:-(i) and (ii)
(i) ഒ�ം (ii)
        B:-(ii) and (iii)
(ii) ഒ�ം (iii)
        C:-Only (i)
(i) മാ�ം
        D:-All the three
��ം
        Correct Answer:- Option-D
Question83:-Goods of Rs. 5,000 purchased on credit from ABC Enterprises are recorded in purchases book for Rs. 7,000. Which type of error is this?
ABC എൻറർൈ�സസിൽ നി�് െ�ഡി�ിൽ വാ�ിയ 5,000 �പ�െട സാധന�ൾ 7,000 �പ�് പർേ�സ് ��ിൽ േരഖെ���ിയി��്. ഇത് ഏത് തര�ി�� പിശകാണ്?
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        A:-Error of casting
കാ�ിംഗിൽ പിശക്
        B:-Error of recording
െറേ�ാർഡിംഗ് പിശക്
        C:-Error of carrying forward
�േ�ാ�് െകാ�േപാ��തിൽ പിശക്
        D:-Error of posting
േപാ�് െച��തിൽ പിശക്
        Correct Answer:- Option-B
Question84:-Which of the following errors will be rectified through suspense account?
താെഴ�റ��വയിൽ ഏതാണ് സെ�ൻസ് അെ�ൗ�ി�െട പരിഹരി�െ��ക?
        A:-Sales return book under cast by Rs. 50
െസയിൽസ് റിേ�ൺ ��് കാ�് �കാരം �.50
        B:-Sales return by XYZ Ltd., Rs. 150
XYZ ലിമി�ഡിൻെറ വിൽ�ന റിേ�ൺ �.150
        C:-Sales return by XYZ Ltd. for Rs. 150 recorded as Rs. 50
XYZ ലിമി�ഡിൻെറ വിൽ�ന വ�മാനം 150 �പ 50 �പയായി േരഖെ���ി
        D:-None of the above
�കളിൽ പറ�വെയാ�മ�
        Correct Answer:- Option-A
Question85:-Credit purchase from ABC Ltd., Rs. 750 was posted to the debit of Anil as Rs. 1000. In this case suspense account will be debited with
ABC ലിമി�ഡിൽ നി�� 750 �പ െ�ഡി�് പർേ�സ് അനിലിൻെറ െഡബി�ിേല�് 1,000 �പയായി േപാ�് െച�. ഈ സാഹചര��ിൽ സെ�ൻസ് അെ�ൗ�ിൽ നി�് െഡബി�്
െച�െ���ത്
        A:-Rs. 750
�. 750
        B:-Rs. 1,000
�. 1,000
        C:-Rs. 1,750
�. 1,750
        D:-None of these
ഇവെയാ�മ�
        Correct Answer:- Option-C
Question86:-Income statement includes
വ�മാന ��ാവന ഉൾെ���
        A:-Trading account
േ�ഡിംഗ് അെ�ൗ�്
        B:-Profit and Loss account
ലാഭന� അെ�ൗ�്
        C:-Both (1) and (2)
(1) ഉം (2) ഉം
        D:-Balance sheet
ബാലൻസ് ഷീ�്
        Correct Answer:- Option-C
Question87:-Edward own a firm. He brought additional capital of Rs. 2 lakh to the firm. The receipt of this money in business is
എേഡ�ർഡിന് ഒ� �ാപന��്. �ാപന�ിന് 2 ല�ം �പ അധിക �ലധനം െകാ�വ�. ഈ പണ�ിൻെറ രസീത് ___________ ആണ്.
        A:-Revenue receipt
റവന� രസീത്
        B:-Capital receipt
�ലധന രസീത്
        C:-Revenue expenditure
റവന� െചലവ്
        D:-Capital expenditure
�ലധന െചലവ്
        Correct Answer:- Option-B
Question88:-Capital expenditure ________ the earning capacity of a business.
�ലധന െചലവ് ഒ� ബിസിന�ിൻെറ വ�മാന േശഷി ________
        A:-Increases
വർ�ി��
        B:-Decreases
�റ��
        C:-Does not alter
മാ�ി�
        D:-None of the above
�കളിൽ പറ�വെയാ�മ�
        Correct Answer:- Option-A
Question89:-Capital expenditure ________ the operating expenses of a business.
�ലധന െചലവ്  ______ ഒ� ബിസിന�ിൻെറ �വർ�ന െചലവ്.
        A:-Reduces
�റ��
        B:-Increases
വർ�ി��
        C:-Does not alter
മാ�ി�
        D:-None of the above
�കളിൽ പറ�വെയാ�മ�
        Correct Answer:- Option-A
Question90:-On which assumption the expenditure is classified as capital and revenue expenditure?
ഏത് അ�മാന�ിലാണ് െചല�കെള �ലധന�ം റവന� െചല�ം ആയി തരംതിരി��ത്?
        A:-Going concern assumption
േഗായി�് കൺേസൺ അ�മാനം
        B:-Accrual assumption
അ�വൽ അ�മാനം
        C:-Money measurement assumption
പണം അള��തി�� അ�മാനം
        D:-Consistency assumption
�ിരത അ�മാനം
        Correct Answer:- Option-A
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Question91:-While calculating operating profit, the following are not taken into account
�വർ�ന ലാഭം കണ�ാ�േ�ാൾ, താെഴ�റ��വ കണ�ിെല���ി�.
        A:-Normal transactions
സാധാരണ ഇടപാ�കൾ
        B:-Abnormal items
അസാധാരണമായ ഇന�ൾ
        C:-Expenses of a purely financial nature
തിക�ം സാ��ിക സ�ഭാവ�� െചല�കൾ
        D:-Both (2) and (3)
(2) ഉം (3) ഉം
        Correct Answer:- Option-D
Question92:-Which of the following is correct?
താെഴ�റ��വയിൽ ഏതാണ് ശരി?
        A:-Operating profit = operating profit – non-operating expenses − non-operating incomes
�വർ�ന ലാഭം = �വർ�ന ലാഭം – �വർ�േനതര െചല�കൾ − �വർ�േനതര വ�മാനം
        B:-Operating profit = net profit + non-operating expenses + non-operating incomes
�വർ�ന ലാഭം = അ�ാദായം + �വർ�േനതര െചല�കൾ + �വർ�േനതര വ�മാനം
        C:-Operating profit = net profit + non-operating expenses – non-operating incomes
�വർ�ന ലാഭം = അ�ാദായം + �വർ�േനതര െചല�കൾ – �വർ�േനതര വ�മാനം
        D:-Operating profit = net profit – non-operating expenses + non-operating incomes
�വർ�ന ലാഭം = അ�ാദായം – �വർ�േനതര െചല�കൾ + �വർ�േനതര വ�മാനം
        Correct Answer:- Option-C
Question93:-Liability which is payable on the happening of an even is
ഒ� ഇവൻറ് സംഭവി�േ�ാൾ നൽേക� ബാധ�ത
        A:-Contingent liabilities
ആക�ികമായ ബാധ�തകൾ
        B:-Fluctuating liabilities
ചാ�ാ��� ബാധ�തകൾ
        C:-Current liabilities
നിലവിെല ബാധ�തകൾ
        D:-None of the above
�കളിൽ പറ�വെയാ�മ�
        Correct Answer:- Option-A
Question94:-Depreciation or the expired cost of fixed assets will be
�ിര ആ�ിക�െട �ല��കർ� അെ��ിൽ കാലഹരണെ�� ചിലവ് ആയിരി�ം
        A:-Revenue expenditure
റവന� െചലവ്
        B:-Capital expenditure
�ലധന െചലവ്
        C:-Deferred revenue expenditure
മാ�ിെവ� റവന� െചലവ്
        D:-None of the above
�കളിൽ പറ�വെയാ�മ�
        Correct Answer:- Option-A
Question95:-Capital gains are those profits
ആ ലാഭമാണ് �ലധന േന�ം
        A:-Which are earned as interest on investments
നിേ�പ�ിൻെറ പലിശയായി ലഭി��വ
        B:-Which are earned by selling of goods
സാധന�ൾ വിൽ��തി�െട ലഭി��വ
        C:-Which are earned by selling fixed assets of the business
ബിസിനസിൻെറ �ിര ആ�ികൾ വി�് സ�ാദി��വ
        D:-Which are related to discounts received from creditors
കട�ാരിൽ നി�് ലഭി�� കിഴി�ക�മായി ബ�െ��വ
        Correct Answer:- Option-C
Question96:-The capital of a sole trader would change as a result of
ഒ� ഏക വ�ാപാരി�െട �ലധനം അതിൻെറ ഫലമായി മാ�ം
        A:-Fixed assets being purchased on credit
�ിര ആ�ികൾ െ�ഡി�ിൽ വാ��
        B:-Raw materials being purchased on credit
അസം�ത വ��ൾ െ�ഡി�ിൽ വാ��
        C:-A creditor being paid in his account by cheque
ഒ� കട�ാരന് െച�് �േഖന അയാ�െട അെ�ൗ�ിൽ പണം നൽ��
        D:-Wages being paid in cash
േവതനം പണമായി നൽ��
        Correct Answer:- Option-D
Question97:-Net sales of ABC Ltd. was Rs. 75,000 during the year 1978. Gross profit is 20% on sales. Find out cost of goods sold.
1978-ൽ ABC ലിമി�ഡിൻെറ അ� വിൽ�ന 75,000 �പ. െമാ� ലാഭം വിൽ�നയിൽ 20% ആണ്. വിൽ�� സാധന��െട വില കെ��ക.
        A:-Rs. 75,000
�. 75,000
        B:-Rs. 56,250
�. 56,250
        C:-Rs. 71,250
�. 71,250
        D:-Rs. 2,750
�. 2,750
        Correct Answer:- Option-B
Question98:-Manager's commission is always treated as ________ expenses.
മാേനജ�െട ക�ീഷൻ എേ�ാ�ം ________ െചല�കളായി കണ�ാ��.
        A:-Outstanding
മിക�ത്
        B:-Accrued
സമാഹരി�ത്
        C:-Unearned
കെ��ാ�ത്
        D:-Prepaid
�ീെപയ്ഡ്
        Correct Answer:- Option-A
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Question99:-What will be the journal entry of write-off further bad debts in the book of accounts?
അെ�ൗ�്സ് ��ിൽ ��തൽ കി�ാ�ടം എ�തി���തിൻെറ േജണൽ എൻ�ി എ�ായിരി�ം?
        A:-Debit debtors account and credit provision for bad debts account
െഡബി�് െഡബിേ��് അെ�ൗ�ം ബാഡ് െഡ�് അെ�ൗ�ി�� െ�ഡി�് െ�ാവിഷ�ം
        B:-Debit provision for bad debts account and credit debtors account
കി�ാ�ടം അെ�ൗ�ി�ം െ�ഡി�് കട�ാ�െട അെ�ൗ�ി��� െഡബി�് െ�ാവിഷൻ
        C:-Debit bad debts account and credit debtors account
െഡബി�് ബാഡ് െഡ�്സ് അെ�ൗ�ം െ�ഡി�് െഡേ��് അെ�ൗ�ം
        D:-Debit debtors account credit bad debts account
െഡബി�് െഡേ��് അെ�ൗ�് െ�ഡി�് ബാഡ് െഡ�്സ് അെ�ൗ�്
        Correct Answer:- Option-C
Question100:-Bills receivable discounted but not due till the date of final accounts is shown in
സ�ീകാര�മായ ബി�കൾ ഡിെ�ൗ�് നൽകിയി��്, എ�ാൽ അ�ിമ അെ�ൗ�ക�െട തീയതി കാണി��ത് വെര �ടി�ികയി�
        A:-Assets side of the balance sheet
ബാലൻസ് ഷീ�ിൻെറ അസ�് വശം
        B:-Liabilities side of the balance sheet
ബാലൻസ് ഷീ�ിൻെറ ബാധ�തകൾ
        C:-Debit side of profit and loss account
ലാഭന� അെ�ൗ�ിൻെറ െഡബി�് വശം
        D:-Foot notes
അടി�റി�കൾ
        Correct Answer:- Option-D
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